2035 % R 2R1AAR EBX 20BFE %FE 2A2AAR EBE 2023%F % REE 2ASHAM EHH
MEES AR BEARE |BR |[EEE MEES SFS fRERE |EmR |EEX MEES A& fRERZ |Em |EEE
1 1 |JR=VY EIRAR 2 85.7% 1 1 |UR=VY EIRAR 2| 100.0% 1 PSS IR AR 2| 50.0%
2 (VrR=VY EREX 2 100.0% 2 |YR=ZVY FEHRX 2[ 100.0% 2 [UR=VY FEIRE 2| 33.3%
3 |VR=VY  |ERER 2 57.1% 3 [VRZVY [ERER 2| 100.0% 3 [VR=VS [BERE 2| 100.0%
2 4 |YRZ=VY BEIREX 2 100.0% 2 4 |YRZVY IR 2[ 100.0% 2 4 |JR=VY EREX 2| 100.0%
5 [VR=VT R 2 85.7% 5 |UR=ZVY FEHRX 2[ 100.0% 5 [VR=2H EIRE 2| 50.0%
3 6 |UR=H BEIREX 2 100.0% 3 6 |VR=VT ER AR 2[  75.0% 3 6 (VA=Y EIRAR 2| 66.7%
7 (VR=VS BEREX 2 100.0% PEESZ FEREX 2[ 100.0% 7 [VrR=2Y BEIRE 2| 83.3%
1 8 |UR=2Y  [EREX 2 57.1% 1 8 |UR=VY  |[ERE 2| 75.0% 1 8 VA=Y R 2| 83.3%
9 |YR=DY BEIRE 2 100.0% 9 |YR=UY BEIRE 2|  50.0% 9 |[YR=2Y EIRAX 2| 100.0%
10 [VRZ=VY EREX 2 100.0% 10 (VRZ=VY EHRX 2[ 100.0% 10 (VA=Y EIREX 2| 100.0%
1 [JR=v% EIRAR 2 100.0% 1 |UR=vY EIRAR 2| 87.5% 11 [UR=>% IR 2| 100.0%
12 [VRZ=VY BEIREX 2 85.7% 12 [VRZ=VY BIREX 2[ 100.0% 12 [VR=2S EREX 2| 66.7%
3 [JR="7% BIRAR 2 71.4% 13 [VR=2Y EREX 2[  87.5% 13 [VRZVY EREX 2| 100.0%
14 |YR=2Y EIREX 2 100.0% 14 (YR=VY BEIRAX 2[ 100.0% 14 |YARZY EIREL 2| 66.7%
15 [VRZ=VY ERAX 2 71.4% 15 [VRZ=Y FEHRX 2[ 100.0% 15 [VR=24 EIREX 2| 83.3%
A 1 |)—=T1vT  [|EREK 2 71.4% A 1 |U—T1v7  [EREX 2| 100.0% A 1 |U—T127 [EREK 2| 100.0%
2 (V—T1v7 |BREX 2 71.4% 2 (V—T1v7 |[BREX 2| 87.5% 2 (V=T4v7 [BIREX 2| 100.0%
3 |U—T1vU [ERER 2 85.7% 3 V=TT |ERER 2| 50.0% 3 |V—T1vU [ERER 2| 66.7%
4 (V=747 [BRE 2 42.9% 4 (V—T427 |BIREX 2| 100.0% 4 (V=747 [BRE 2| 16.7%
5 (V—T+1vT |BIREX 2 100.0% 5 (V—T+1v7 [BIREX 2| 100.0% 5 (U—T1vT |EBIREX 2| 100.0%
Bl 1 |6 [U—TFT1vF [ERE 2 28.6% B |1 |6 |[U=—FT4vF [EREK 2| 100.0% B |1 |6 [U—TFT1vF [EREK 2| 100.0%
7 |V=T1vT [FIRE 2 100.0% 7 (V—=T42T |[#REX 2| 100.0% 7 (V—T1v7 [ZERE 2| 100.0%
I |8 [U—T«4v7 |&#RE 2 100.0% n|8 |U—TavJ [ERE 2[ 100.0% I |8 [V—T«4vT |&#RE 2| 100.0%
9 V=747 |ERE 2 85.7% 9 (V=747 |[BREX 2| 100.0% 9 |V—T42T |ERE 2| 100.0%
2 e[ 1 [0 [I—=4oF B 3 57.1% 2l e 1 [10[I—=4oF |[ERE& 3[ 100.0% 2 [T [0 [—4o7 |EREK 3 16.7%
1 |\)—7127 [ZEREK 3 71.4% 1 |)—7127 [ZERE 3| 62.5% 1 |)—7127 [EREX 3| 83.3%
o |12 V=727 |#RE 3 85.7% o |12 (V=747 |#RE 3| 100.0% o |12 [V—T425 |#ERE 3| 100.0%
13 |V—T4290 | BREX 3 57.1% 13 |J—T42T [ZEIRE 3[ 100.0% 13 (V=742 | BREX 3 66.7%
D 14 [)—T4v5  [|EREK 3 57.1% D 14 ()—7107 [ZEIREX 3[  75.0% D 14 [)—F7425 [EIREX 3| 66.7%
15 | =747  [ZEIRE 3 85.7% 15 |U—T42T [ZEIRE 3| 75.0% 15 | =747 [ZEIRE 3| 50.0%
16 |V—T424 |&Eab 6 42.9% 16 |J—T4>Y |k 6] 37.5% 16 |J—T424 |fEid 6| 0.0%
17 |V—T4>7 |iEi 6 0.0% 17 |V—T4>7 |Gk 6 12.5% 17 |V—T4>7 |iEdk 6| 33.3%
18 |V—T4>9 |&Eidk 6 28.6% 18 |V—T429 |REik 6 25.0% 18 |V—T429 |&Euk 6] 33.3%
3 IAT10T | REX 16 0.0% 3 IAT10T | REX 16  0.0% 3 AT42T | REX 16|  0.0%
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